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सामा�‍य‍िर्��‍   

1.  ��‍न-प�‍के‍4‍ख�‍ड‍��‍-‍क, ख, ग और‍घ‍। 

(i) ख�‍ड‍क‍ ‍20‍अकं�‍के‍20‍ब��वकै��पक‍��‍न‍��‍।‍ 

(ii) ख�‍ड‍ख‍ ‍��‍येक‍2‍अंक�‍वाले‍8‍लघ‍ुउ�र‍�कार‍के‍��‍न‍��‍।‍ 

(iii) ख�‍ड‍ग‍ ‍��‍येक‍3‍अकं�‍वाले‍8‍��‍न‍��‍। 

(iv) ख�‍ड‍घ‍ ‍��‍येक‍5‍अकं�‍वाले‍4‍दीघ�‍उ�रीय‍��‍न‍��‍। 

2.  ��‍न-प�‍म�‍आतं�रक‍�वक�‍प‍�द ‍ए ‍��,  �ाला��क‍सम�‍�वक�‍प‍न��‍�ै‍।‍ 

   ख� ड क 

1.  न���न�नित न�क�प� म� से कौ�-सा का��ू भा�त म� अ�पसं�यक� के सं��ण का न�शषे का��ू ह ै?  1 

 (A)  भा�तीय संन�धा� का अ�ु� छे� ��     

 (B)  भा�तीय संन�धा� का अ�ु� छे� �� 

 (C)  नसन�� अनधका� सं��ण अनधन�यम, 1955 

 (D)  मा�� अनधका�� क� सा��भौम घोषणा 

2. �ताप न�नधक �प से अह�ता �ा� त रम� ���ूट है । मा��ानधका� माम�� म� उसक� न�शेष यो� यता है । 
उसक� �ौक�ी के न�ए न�� �न�नित म� से कौ� स���म है ?  1 

 (A)   भा�तीय �नत�पधा� रयोग (Competition Commission of India) 

 (B)   न�नधक �न�या बनह �ोत� के� � (Centre for Legal Process Outsourcing) 

 (C)   भा�तीय �नतभनूत ए� ंन�न�मय बो�� (Securities and Exchange Board of India) 

 (D)   � यायाधीश महा-अनध�� ता न�भाग (Judge Advocate General’s Department)  

3.  सचूी I औ� सचूी II का नम�ा� क�न�ए : 1 
  सचूी‍I  सचूी‍II 
(a) अ��ु छे� �0  (i) महानध�� ता क� न�यनु�   
(b) अ��ु छे� ���  (ii) उ� चतम � याया�य का म�ू �े�ानधका�   
(c) अ��ु छे�  �6� (iii) महा� याय�ा�ी क� न�यनु�  
(d) अ��ु छे� 76 (iv) � यायपान�का क� � �तं�ता 
     

 (A)   a-(iv), b-(iii), c-(ii), d-(i)  (B) a-(ii), b-(iv), c-(i), d-(iii) 

 (C)   a-(iv), b-(i), c-(ii), d-(iii) (D) a-(iv), b-(ii), c-(i), d-(iii) 
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General Instructions : 

1.  The Question Paper contains 4 sections – A, B, C and D. 

(i) Section A : contains 20 Multiple Choice Questions for 20  marks. 

(ii) Section B : contains 8 Short Answer Type Questions for 2  marks each. 

(iii) Section C : contains 8 questions for 3 marks each. 

(iv) Section D : contains 4 Long Answer Type Questions for 5  marks each. 

2.  Internal choice is given in the paper. There is no overall choice.  

SECTION A 

1. Which among the following options is a special law for protection of minorities in 
India ?   1 

 (A)   Article 21 of the Constitution of India 

 (B)   Article 14 of the Constitution of India 

 (C)   Protection of Civil Rights Act, 1955 

 (D)   Universal Declaration of Human Rights 

2. Pratap is a legally qualified Indian Army recruit. He specializes in human rights 
matters. Which of the following is best suited for his services ? 1 

 (A)   Competition Commission of India 

 (B)   Centre for Legal Process Outsourcing  

 (C)   Securities and Exchange Board of India 

 (D)   Judge Advocate General’s Department 

3.  Match List I and List II : 1 

 List‍I  List‍II 
(a) Article 50  (i) Appointment of Advocate General 
(b) Article 131 (ii) Original Jurisdiction of the Supreme Court  
(c) Article 165 (iii) Appointment of the Attorney General 
(d) Article 76 (iv) Independence of Judiciary  

(A)  a-(iv), b-(iii), c-(ii), d-(i)  (B)  a-(ii), b-(iv), c-(i), d-(iii) 

(C) a-(iv), b-(i), c-(ii), d-(iii) (D)  a-(iv), b-(ii), c-(i), d-(iii) 
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4.  अ�िकथन‍(A) : ��नहत �ा� (PIL), �ाग��क न��नत औ� �नतन�नध न��नत प� रधा��त होते ह� ।  1 

  कारण‍(R) :  ��नहत �ा�� �े न�ग�ा�ीकता� (monitor) के �प म� � यायपान�का क� भनूमका को 
स�ु� नकया ह ै।   

(A) (A) औ� (R) �ो�� सही ह� औ� (R), (A) का सही � प�ीक�ण ह ै। 

(B) (A) औ� (R) �ो�� सही ह,ै प�ंत ु(R), (A) का सही � प�ीक�ण �ह� ह ै। 

(C) (A) सही ह,ै प�ंत ु(R) ��त ह ै। 

(D) (A) ��त ह,ै प�ंत ु(R) सही ह ै। 

5. सबा के पास उसक� � �ग�य �ा�ी क� एक बह�म�ू य प�नटंग है । उस�े अप�ी �ता �ाम क� एक सहे�ी, 

�ो क�ाकृनतय� का सं�हण क�ती ह,ै को यह प�नटंग बेच�े का न�ण�य न�या । इसक� क�मत के बा�े म� 
�ो�� म� सहमनत हो गई औ� सबा �े यह प�नटंग �ता को स�प �ी । प�ंत ुएक न��ा� िडा हो गया �ब 

एक �सू�े � यन�, महेश �े यह �ा�ा नकया नक �ह इस प�नटंग का अस�ी मान�क है ।  

 �ता को संपन� के ह� तांत�ण के न�ए न�� �न�नित म� से कौ�-सी शत� प�ूी हो�ी चानहए न�से �ैध मा�ा 
�ाए ?  1 

 (A)  सबा के पास प�नटंग का �ैधान�क � �ानम� � औ� इसके ह� ता� त�ण का अनधका� हो�ा चानहए 
त�ा �ता को � �ानम� � के ह�ता�त�ण के इ�ा�े से ही ह�ता�त�ण नकया �ा�ा चानहए । 

 (B)  �ता के पास प�नटंग ि�ी��े का न��ीय संसाध� हो�ा चानहए औ� �ो�� प�का�� को � �ानम� � 
का ह� ता� त�ण बता�े �ा�े एक न�नित क�ा� प� ह� ता�� क��े चानहए । 

 (C)  सबा को प�नटंग क� नब�� के इ�ा�े के बा�े म� महेश को बता�ा चानहए औ� �ता को संपन� के 
ह� ता� त�ण से पह�े उसक� सहमनत �े�ी चानहए । 

 (D)  �ता को पह�े ही प�नटंग क� प�ूी ि�ी� क�मत चकुा�ी चानहए औ� � �ानम� � के ह� ता� त�ण 
को न�नधमा� य ब�ा�े के न�ए सबा को प�नटंग क� �ा� तन�कता का �माणप� �े�ा चानहए ।  

6.  न�टे� (य.ूके.), अम�ेीका (य.ूएस.ए.), ऑ� �ने�या औ� भा�त म� � या समा�ता है ? 1 

 (A)   इ� सभी �ेश� के पास नसन�� �याया�य के �े�ानधका� ह� । 

 (B)   ये सभी �ेश � याय ��ा� क��े म� पछूताछ �ा�च �णा�ी का अ�सु�ण क�ते ह� । 

 (C)   ये सभी �शे सामा�य का��ू (Common law) �े�ानधका� ह� ।  

 (D)   ये सभी �शे �ेपोन�य� को� का अ�सु�ण क�ते ह� ।  
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4.  Assertion (A) : Public Interest Litigations (PILs) are based on the tenets of citizen 
standing and representative standing.  1 

  Reason (R) :   PILs have strengthened the role of judiciary as a monitor.  

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).  

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

(C)  (A) is true, but (R) is false. 

(D)  (A) is false, but (R) is true. 

5. Saba inherited a valuable painting from her late grandmother. She decided to sell 

the painting to her friend Lata, who is an art collector. They both agreed on a price 
and Saba handed over the painting to Lata. However, a dispute arose, when 
another individual Mahesh claimed that he is the rightful owner of the painting. 
Which of the following conditions must be satisfied for the transfer of property to 
Lata to be considered valid ?  1 

 (A)  Saba must have legal ownership and the capacity to transfer the painting 
and the transfer must be done with the intention to transfer ownership to 
Lata. 

 (B)  Lata must have the financial means to purchase the painting and both 
parties must sign a written agreement stating the transfer of ownership. 

 (C)  Saba must notify Mahesh about the intended sale of the painting and obtain 
his consent before transferring the property to Lata. 

 (D)  Lata must pay the full purchase price upfront and Saba must provide a 
certificate of authenticity for the painting to validate the transfer of 
ownership. 

6.  What is common among UK, USA, Australia and India ?  1 

 (A)   All of these countries are Civil Law jurisdiction. 

 (B)   All of these countries follow Inquisitorial System of Justice Dispensation. 

 (C)   All of these countries are Common Law jurisdiction. 

 (D)   All of these countries follow the Napoleonic code.  
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7. ऐ�� स �े �ं�� न�� �न��ा�य से न��ा� म� � �ातक क� न��ी �ी ह ै। उसक� का��ू म� �नच उ� प� � हो 

गई औ� �ह सान�नसट� (�क��) ब��ा चाहता ह ै। इसे प�ूा क��े के न�ए नक� अपे�ाओ ंक� ���त 
ह,ै इ�का पता क�न�ए ।                      1 

 (i)   �नश�ण संन��ाए� 

 (ii)   नश� य� � (नश�क के अधी� प�ाई) 

 (iii)  न�नधक पेशा पाठ्य�म (Legal Practice Course) 

 (iv)   �का�त � या�सानयक पाठ्य�म (Bar Vocational Course) 

 (A)   के�� (i) औ� (ii)   (B)  के�� (ii) औ� (iii) 

 (C)   के�� (iii) औ� (iv)   (D)  के�� (i) औ� (iii) 

8. अ�ेन�� स क�प�ी कई �ष� से ‘अ��ो नगय� (Athlo Gear)’ �ा� � �ाम से अप� े अ�ठेू � पोट्�स 

प��धा�� को सफ�ताप�ू�क बेचती र �ही ह ै। कंप�ी यह सनु�न�त क��ा चाहती ह ैनक इसके �ां� को 

अ�नधकृत उपयोग औ� �क� से बचाया �ाए । अप�े �ां� �ाम क� स�ु�ा के न�ए कंप�ी के पास 

न�� �न�नित म� से कौ�-सा स���म न�क� प है ?  1 

 (A)  संपणू� अनधका�� को स�ुन�त �ि�े औ� � पोट्�स प��धा�� (Apparel) म� �सू�� के �ा�ा ऐसा 
ही �ाम या नम�ता ��ुता �ाम �योग क��े से �ोक�े के न�ए � यापा� नच� ह (Trademark) के 
�प म� ‘अ��ो नगय� (Athlo Gear)’ �ां� �ाम का पं�ीक�ण क��ा । 

(B) �ां� �ाम के �योग का ��कॉ�� ब�ाए �ि�ा औ� �नत� ठा त�ा �ाहक� क� मा� यता प� 
रधा��त एक सामा� य का��ूी � यापा� नच� ह � �ानपत क��े के न�ए न��ाप� अनभया� 
च�ा�ा । 

(C) बाजा� म� अ�नधकृत उपयोग औ� �म के न��� स�ु�ा सनु�न�त क�ते ह�ए नम�े ��ेु �ां� 
�ाम� से बच� े के न�ए �सू�ी � पोट्�स प��धा� कंपन�य� के सा� सहयोग (Collaboration) 
क��ा । 

(D) उ� पा� क� न�शषेताओ ंको बताते समय इसक� अ�� यता (अन�तीयता) को ब�ाए �िते ह�ए 
एक � प� ट � यापा� नच� ह ब�ा�े के न�ए ‘अ��ो नगय� (Athlo Gear)’ �ां� �ाम को ��ेे��क 
�ाम के सा� �ोड�ा ।  
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7. Alex graduated with Science from the University of London. He developed an 

interest in law and wants to become a solicitor. Identify the requirement he needs 
to fulfil the same.                      1 

 (i)   Training Contracts  

 (ii)   Pupillage  

 (iii)  Legal Practice Course  

 (iv)   Bar Vocational Course  

 (A)   (i) and (ii) only  (B)  (ii) and (iii) only 

 (C)   (iii) and (iv) only  (D)  (i) and (iii) only 

8. Athelix Co. has been successfully selling its unique line of sports apparel under 

the brand name ‘Athlo Gear’ for several years. The company wants to ensure that 
its brand is protected from unauthorized use and imitation. Which of the following 
is the best option for the company to safeguard its brand name ?  1 

 (A) Register the brand name ‘Athlo Gear’ as a trademark to secure exclusive 
rights and prevent others from using the same or similar name in the sports 
apparel industry. 

 (B) Maintain a record of the brand name’s usage and advertise campaigns to 
establish a common law trademark based on reputation and customer 
recognition. 

 (C) Collaborate with other sports apparel companies to refrain from using 
similar brand names, ensuring protection against unauthorized use and 
confusion in the market.  

 (D) Combine the brand name ‘Athlo Gear’ with a generic term to create a 
descriptive trademark, maintaining exclusivity while conveying product 
features.     
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9. �पा औ� �न� �े अ�ैधान�क प�ा�� क� नब�� के न�ए एक संन��ा नकया । संन��ा तैया� क�ते समय 
इसक� अ�धैान�कता के बा�े म� �ो�� को प�ूी �ा�का�ी �ी । इस संन��ा क� न��नत को सही �प से 
�नण�त क��े के न�ए न�� �न�नित म� से कौ�-सा न�क� प है ? 1 

 (A)   न�षय क� अ�ैधान�कता के बा���ू संन��ा �धैान�क �प से �ाग ूक��े यो� य है । 
 (B)  इसके गै�का��ूी नक� म का हो�े के का�ण �ो�� प�का�� के न��के प� संन��ा अमा� य हो�े के 

यो� य है । 
 (C)  संन��ा अमा� य है औ� इसके गै�का��ूी ���प के का�ण नकसी भी प� �ा�ा इसे �ाग ू�ह� 

नकया �ा सकता । 
 (D)  संन��ा �धै ह,ै प�ंत ु एक अ�धैान�क का�ोबा� से सं��� हो�े के का�ण �ो�� प�का�� को 

रप�ानधक र�ोप� का साम�ा क��ा पड सकता है ।   

10.  अ�िकथन‍(A) : भा�त म� � यायाधीश� क� से�ान��नृ� क� रय ुको ब�ा�े क� त� का� र�� यकता  
है ।     1 

  कारण‍(R) :   रस� � मकु�मा माम�� क� भा�ी सं� या के न��� यह एक �नत�ोध (buffer) का 
काम क�ेगा ।  

(A) (A) औ� (R) �ो�� सही ह� औ� (R), (A) का सही � प�ीक�ण है । 

(B) (A) औ� (R) �ो�� सही ह�, प�� त ु(R), (A) का सही � प�ीक�ण �ह�‍है । 

(C) (A) सही है, प�ंत ु(R) ��त है । 

(D) (A) ��त है, प�ंत ु(R) सही है । 

11.  न�� �न�नित का नम�ा� क�न�ए औ� सही न�क� प चनु�ए : 1 

 सचूी I  सचूी‍II 

(a) न�चा�ाधी� �ा�  (i) संपन� ह� ता� त�ण का सामा� य नस�ांत  

(b) संपन� ह� ता� त�ण अनधन�यम, 1882 (ii) च� संपन� का ह� ता� त�ण 

(c) च�ुा� का नस�ांत (Doctrine of 
Election) 

(iii) �ंनबत संपन� मकु�मे के न�ए प�का�� को 
� याया�य न�ण�य के अधी� क��ा   

(d) मा� न��य अनधन�यम, �9�0 (iv) कोई � �ीक�ण (अ�ुमो��) औ� अ� �ीक�ण 
(न���मुो��) �ह� क� सकता  

(A) a-(iv), b-(ii), c-(i), d-(iii)  (B)  a-(ii), b-(i), c-(iii), d-(iv) 
(C) a-(iii), b-(iv), c-(i), d-(ii) (D)  a-(iii), b-(i), c-(iv), d-(ii) 
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9. Rupa and Ravi entered into a contract for the sale of illegal substances. Both were 
fully aware of the illegality of the contract at the time of its formation. Which of 
the following options correctly describes the status of the contract ? 1 

 (A)   The contract is legally enforceable despite the illegality of the subject. 

 (B)  The contract is voidable at the discretion of either party due to its unlawful 
nature. 

 (C)  The contract is void and cannot be enforced by either party due to its 
unlawful nature.  

 (D)  The contract is valid, but both parties may face criminal charges for 
engaging in an illegal transaction.   

10.  Assertion ‍(A) : There is an urgent need to increase the retirement age of judges in 
India.   1   

  Reason ‍(R) :   It will be a buffer against impending litigation explosion.  

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A).  

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

(C)  (A) is true, but (R) is false. 

(D)  (A) is false, but (R) is true. 

11.  Match the following and choose the correct option : 1 

 List I  List‍II 
(a) Lis Pendens   (i) General principle of transfer of 

property  
(b) Transfer of Property Act, 1882 (ii) Transfer of movable property  

(c) Doctrine of Election   (iii) Subjugate parties to a pending 
litigation of a property to court’s 
decision  

(d) Sale of Goods Act, 1930  (iv) No one can approbate and reprobate  

(A) a-(iv), b-(ii), c-(i), d-(iii)  (B)  a-(ii), b-(i), c-(iii), d-(iv) 

(C) a-(iii), b-(iv), c-(i), d-(ii) (D)  a-(iii), b-(i), c-(iv), d-(ii) 
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12.  एक � यन� �ा�ी कंप�ी (OPC) क� एक स�� य से भी न��ंत� उ��ानधका� क� न�शेषता है � य�नक   1 

(A) यह कंप�ी अनधन�यम, 2013 के अतंग�त न�गनमत (incorporated) है । 

(B) �ाइ�टे कंप�ी क� त�ु�ा म� इसक� अ�पुा�� र�� यकताए� कम ह� । 

(C) इसके स�� य� से प�ृक (नभ� �), यह एक अ�ग �धैान�क कंप�ी ह ै। 

(D) न�गमीक�ण के �ौ�ा� नकसी �ानमती (nominee), क� न�यनु� त  का इसम� �ा�धा� है । 

13.  अ��ु के पास �ा�ी� क� ₹ �,000 क� ��े�ा�ी ह ै। प�ेू ऋण (��े�ा�ी) के एकम�ुत भगुता� के �प म� 

अ��ु �ा�ा �ा�ी� को ₹ �,�00 का भगुता� नकया �ाता ह ै। इस संन��ा का न���ह� __________ के 
�ा�ा नकया �ाता है ।  1 

(A) ि�ं�   (B) छूट (माफ�) 

(C) �ेषण   (D) ��ीय�  

14.  अ�िकथन‍(A) :  भा�तीय संन�धा� के अ�ु� छे� �9 के अतंग�त � �तं�ता न��पे� (absolute) �ह� है 
बन�क सापे� (सशत�) है ।   1 

  कारण‍(R) :   स�का� “अनधका��क �प से औ� उनचत �प से” अ�ु� छे� �9 के अतंग�त � �तं�ता 
को सीनमत क� सकती है या �ापस �े सकती है । 

(A) (A) औ� (R) �ो�� सही ह� औ� (R), (A) का सही � प�ीक�ण है । 

(B) (A) औ� (R) �ो�� सही ह�, प�� त ु(R), (A) का सही � प�ीक�ण �ह� है । 

(C) (A) सही है, प�ंत ु(R) ��त है । 

(D) (A) ��त है, प�ंत ु(R) सही है । 

15. माइ�ोह�� कंप�ी �े एक �या सॉ�ट�ये� �ो�ाम तैया� नकया ह ै�ो य�ूीक य�ू� इटं�फेस औ� ए��ां�� 

फ�चस� (उ� �त न�शेषताए�) ��ा� क�ता है । �े अप�े सॉ�ट�ेय� को कॉपी (�क�) हो�े या नब�ा उ�क� 

अ�मुनत के �योग क��े से स�ुन�त �ि�ा चाहते ह� । उस रईपीर� (बौन�क संप�ा अनधका��) को 

बताइए न�सक� सहायता से माइ�ोह�� कंप�ी अप�े सॉ�ट�ये� �ो�ाम को स�ुन�त �ि सके ।    1 

(A) � यापा� गोप�ीयता (Trade secret) 

(B) � यापा� नच� ह (Trademark) 

(C) एक� � अनधका� (Patent) 

(D) कॉपी�ाइट  
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12. One Person Company (OPC) has the feature of perpetual succession even with 
one member because 1 

(A) it is incorporated under Companies Act, 2013. 

(B) its compliance requirements are less than a private company. 

(C) it is a separate legal entity, distinct of its members. 

(D) it has the provision of appointment of a nominee during incorporation. 

13. Anuj owes Rajiv ₹ �,000. Anuj pays ₹ �,�00 to Rajiv in full settlement of the 
whole debt. This contract is discharged by _________.  1 

(A)  rescission 

(B)  remission 

(C)  remittance 

(D)  novation   

14.  Assertion ‍(A) : The freedoms under Article 19 of the Constitution of India are not 
absolute, but conditional.   1 

  Reason‍(R) :   The State can “authoritatively and reasonably” limit or take 
away the freedoms under Article 19.  

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A). 

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

(C)  (A) is true, but (R) is false. 

(D)  (A) is false, but (R) is true. 

15. Microhand Co. has created a new software programme that provides unique user 

interface and advanced features. They want to protect their software from being 
copied or used without their permission. Identify the IPR type that Microhand Co. 
should seek to protect their software programme.    1 

(A)  Trade Secret 

(B)  Trademark 

(C)  Patent 

(D)  Copyright 
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16.  ��ीक�णीय ऊजा� से� ट� क� �ी� टेक इकं औ� ईको पा�� का�पो�ेश� �ामक �ो �नतयोगी कंपन�या� 

त�ाकन�त पेट�ट उ� �ंघ� के ऊप� एक �नट� �ानणन�यक न��ा� म� उ��ी ह�ई ह� । �ी� टेक का �ा�ा 

है नक ईको पा�� �े अप�े �ए उ� पा� म� उ�क� पेट�ट क� गई �ौ�ोनगक� का गै�का��ूी �प से उपयोग 

नकया है । ईको पा�� �े इस र�ोप का �ो��ा� िं�� क�ते ह�ए कहा ह ैनक उ�क� �ौ�ोनगक� ही म�ू ह ै

औ� कोई अनत�मण �ह� नकया गया है । �े म�य��ता औ� न��ाच� (mediation and 

arbitration) �ा�ी ए�ीर� (�ैकन�पक न��ा� समाधा�) प�नत के �ा�ा अप�े न��ा� को न�पटा�ा 

चाहते ह� । उ�क� न��नत को �िेते ह�ए न�� �न�नित म� से कौ�-सा स���म न�क� प ह ै?    1 

(A) मकु�मा �ाय� क��ा 

(B) सम�ौते क� बातचीत क��ा 

(C) नमन� त म� य� �ता औ� न��ाच� 

(D) स�ुह  

17.  अ�िकथन‍(A) :  6 से �� �ष� के रयु �ग� के ब� च� के माता-नपता का यह कत�� य है नक �े अप�े 

ब� च� को नश�ा के अ�स� ��ा� क�� ।   1 

  कारण‍(R) :   संन�धा� का अ�ु� छे� ��A मौन�क अनधका� के  �प म� नश�ा का अनधका� 

��ा� क�ता है ।  

(A) (A) औ� (R) �ो�� सही ह� औ� (R), (A) का सही � प�ीक�ण है । 

(B) (A) औ� (R) �ो�� सही ह�, प�� त ु(R), (A)  का सही � प�ीक�ण �ह� है । 

(C) (A) सही है, प�ंत ु(R) ��त है । 

(D) (A) ��त है, प�ंत ु(R) सही है । 

18. भा�तीय बा� काउंनस� (न�नध� प��ष�) �ा�ा �ा� य न�नध� प��ष� के न�ए नकत�े स�� य� को म�ो�ीत 

नकया �ाता है ?     1 

(A) 1 

(B) 2 

(C) 3 

(D) 4 
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16.  Green Tech Inc. and Eco Power Corp., two competing companies in the 

renewable energy sector are embroiled in a complex commercial dispute over 

alleged patent infringement. Green Tech claims that Eco Power has unlawfully 
used their patented technology in their new product. Eco Power vehemently 

denies the allegation asserting that their technology is original and not infringing. 

They wish to resolve their dispute through an ADR method that combines 
mediation and arbitration. Which of the following options is best suitable for their 
situation ?      1 

(A)  Filing a lawsuit  

(B)  Negotiating a settlement agreement  

(C)  Mediation-arbitration hybrid  

(D)  Conciliation  

17.  Assertion‍(A) : Parents of children between the age of 6 to 14 years have a duty to 

provide opportunities for education to their children.  1    

  Reason‍(R) :  Article 21A provides Right to Education as a Fundamental Right.  

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A). 

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A). 

(C)  (A) is true, but (R) is false. 

(D)  (A) is false, but (R) is true. 

18. How many members are nominated to the State Bar Council by the Bar Council of 

India ?      1 

(A) 1 

(B) 2 

(C) 3 

(D) 4 
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19. एक बह�म�ू य क�ाकृनत के � �ानम� � के ऊप� �ेया औ� सं� या के बीच गमा� गम� �ा�ा न��ा� हो  

गया । इस �गडे के समाधा� के न�ए उ� ह��े म�ू यय� म� य� �ता (evaluative mediation) क� से�ा 

�े�े का न�ण�य न�या है । इस प��न��नत म� म� य� �ता क� � या �ा�नमक भनूमका ह ै?  1 

 (A)  ि�ेु �प से बातचीत क�ा�ा औ� एक पा�� प��क � �ीकाय� समाधा�  प� पह��च�े के न�ए �ो�� 

प�� को �ो� सानहत क��ा । 

 (B)  �ो�� प�� क� न��नत का एक तट� � म�ू यांक� औ� सम�ौता क�ा�े म� सहायता के न�ए 

संभान�त न�ण�य ��ा� क��ा । 

 (C)  एक �च�ा� मक समाधा� को सनु�धा��क ब�ा�े के न�ए �ो�� प�� के न�नहत नहत� औ� 

���त� को सम��े म� � या� केन��त क��ा । 

 (D)  एक तट� � म��गा� के �प म� काय� क��ा औ� सम�ौता त�ा सम� या-समाधा� क� 

सं�च�ा� मक �न�या के मा� यम से �ो�� प�� का माग��श�� क��ा ।  

 

20. �ो� स �ामक �ाससू एक ऐसे �नट� माम�े क� �ा�च क� �हा है न�सम� एक पीनड त को अप�े अपाट�म�ट 

म� मतृ पाया गया �ा । �ा�च के �ौ�ा� �ाससू �ो� स संन�� ध� के अ�ेक संभान�त उ��े य� औ� न�नभ� � 

�का� के इ�ा�� को ��नश�त क��े �ा� ेअ�ेक न��ोधामासी �माण� का �ह�यो�ाट� क�ता है । एक ऐसा 

ही �माण मतृक का एक �ोट ह ैन�सम� उस�े अप�ी म�ृ य ुक� प��न��नतय� को � प� ट नकया ह ै। �ाससू 

�ो� स इस �ोट का उपयोग __________ के �प म� क�ेगा ।   1 

 (A)  � �ीका�ोन� त  (Admission) 

 (B)  म�ृ यकुान�क घोषणा (Dying declaration) 

 (C)  अनत��� �यानयक ��ीक�ण (Extra-judicial confession) 

 (D)  � यानयक � �ीक�ण (Judicial confession) 
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19. Shreya and Sandhya are involved in a heated dispute over the ownership of a 

valuable piece of artwork. They have decided to engage in evaluative mediation to 

resolve their conflict. What is the primary role of the mediator in this situation ?   1 

 (A)  Facilitate open communication and encourage parties to reach a mutually 

agreeable solution. 

 (B)  Provide an objective evaluation of the parties’ position and potential 

outcomes to assist them in reaching a settlement.  

 (C)  Focus on understanding the underlying interests and needs of the parties to 

facilitate a creative solution. 

 (D)  Act as neutral facilitator and guide the parties through a structured process 

of negotiation and problem-solving.  

 

20. Detective Jones is investigating a complex case where the victim was found dead 

in his apartment. During the investigation, Detective Jones uncovers a series of 

conflicting evidence suggesting multiple possible motives and varying levels of 

intent among the suspects. One such evidence is a note by the deceased that 

explained the circumstances of his death. Detective Jones will use this note as : 1 

 (A)  Admission 

 (B)  Dying declaration 

 (C)  Extra-judicial confession 

 (D)  Judicial confession 
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                      ख� ड ख 

21. अतं�ा�� �ीय �ानणन�यक न�नध के एक छा� र�ं� के पास एक ऐसा माम�ा ह ै�ो एक ठेके�ा� औ� 

उप-ठेके�ा� के बीच न�मा�ण संबंधी न��ा� का ह ै । �ो�� प�� क� संन��ा म� एक न��ाच� अ��ु छे� 

शानम� ह ैन�सम� कहा गया ह ैनक संन��ा से उ� प� � नकसी न��ा� को न��ाच� के मा� यम से ह� नकया 

�ाएगा । प�ंत ु संन��ा म� इस �न�या को न�न�यनमत (शानसत) क��े के न�ए नकसी न�नश� ट न��ाच� 

सं� �ा�न�यमा��ी को न�न�न��� ट �ह� नकया गया है । इस माम�े म� नकस न��ाच� को अप�ाया �ा 

सकता है, इसक� पहचा� क�न�ए ।  2 

 �ानणन�यक न��ा�� म� न��ा� ह� क��े के न�ए न��ाच� नकस �का� एक बेहत� त�ीका है ? 

22. (क) �ोक �ीनत को तैया� क��े औ� उस प� स�ाह �े�े म� न�नध � �ातक (law graduate) का 

� या भन�� य है ? 2 

 अथ�ा  

  (ि)  भा�तीय न�नध� प��ष� (Bar Council) के �नतन�नधक काय� का उ� �ेि क�न�ए ।  

23.  � याय नम� (Amicus curiae) कौ� है ? उसक� न�यनु� त � य� क� �ाती है ? 2 

24. एक भीड-भाड �ा�े शह� म� एक ��य� ए� टेट �े��प� भनूम का एक बह�त बडा नह� सा अन��त क�ता है 

�ो कई पीन� य� से बह�त से न�� � रय �ग� के प���ा�� के पास �हा है । न��मा� प���ा�� को पया�� त 

मरु��ा या प�ु�ा�स के न�क� प के नब�ा उ� ह� न�� �ानपत क�के �े��प� �हा� सिु-साध� संप� � 

बह�मंन��ा अपाट�म�ट औ� शानपंग क� � �ै� स ब�ा�े क� यो��ा ब�ा �हा है । कई �शक� से �हा� �ह �हे 

प���ा�� को इसे िा�ी क��े औ� अप�ी �ोजी �ोटी नछ� �ा�े क� सम� या का साम�ा क��ा पड �हा 

ह ै। इस माम�े म� भा�तीय संन�धा� के नकस मौन�क अनधका� का उ� �ंघ� हो �हा है, उसक� पहचा� 

क�न�ए । उ� त प��न��नत म� एक �ा� य क� � या भनूमका ह ै?  2 
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    SECTION B 

21. Anand, a student of international commercial law is reviving a case involving a 

construction dispute between a contractor and sub-contractor. The contract 

between the parties includes an arbitration clause stating that any disputes arising 

from the contract shall be resolved through arbitration. However, the contract 

does not specify any particular arbitral institution/set of rules to govern the 

process. Identify the type of arbitration opted for in this instance. 2 

 How is arbitration a better mode for dispute resolution in commercial disputes ?  

22. (a) What are the prospects of a law graduate in formulation and advising on 

public policy ?  2 

 OR 

  (b)  State the representative functions of the Bar Council of India.  

23.   Who is an ‘Amicus curiae’ ? Why is he�she appointed ? 2 

24.  In a bustling city, a real estate developer acquires a vast tract of land that has been 

home to several low-income families for generations. The developer plans to build 

luxurious high-rise apartments and a shopping complex on this land, displacing 

the existing families without providing adequate compensation or resettlement 

options. The families, many of whom have been living there for decades, face 

eviction and loss of their livelihoods. Identify the fundamental right in the Indian 

Constitution that is violated in this instance. What is the role of the State in the 

given situation ?  2 
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25. च� संपन� ए� ंअच� संपन� म� कोई �ो अतं� �प� क�न�ए ।  2 

26. एक �नतभा�ा� �ेनिका माया एक �ोचक �घ ुकहा�ी तैया� क�ती ह ैऔ� अप�े � यन�गत � �ॉग प� 

�कानशत क�ती है । बा� म� उसे पता च�ता है नक एक �नस� �ेिक �न� �े उसक� कहा�ी के काफ� 

अशं� (नह� स�) क� �क� क� ह ैऔ� एक स�ा�नधक नब�� �ा�ी प�ु तक (bestselling book) म� इसे 

अप�े �ाम से �कानशत नकया ह ै। इस न��नत म� माया नकस रधा� प� का��ूी का���ाई क� सकती ह,ै 

इस े� प� ट क�न�ए । 2 

27. भा�त के एक ��ू-��ा� के रन��ासी (���ातीय) �े� म� एक अ�ठूा सम�ुाय �हता ह ै�ो म�ु य धा�ा 

क� प�नतय� से अ�ग �ाची� �ीनत ���ाज� औ� प�ंप�ाओ ंको मा�ता ह ै। � �ा�ीय स�का� इस �े� म� 

रधा�भतू सं�च�ा औ� �ी�� �शाओ ंम� सधुा� �ा�े के न�ए न�कास प��यो��ाओ ंके काया�� �य� 

क� यो��ा क�ती ह,ै प�ंत ु ���ातीय सम�ुाय के कुछ स�� य अप�ी न�नश� ट सं� कृनत औ� �ी�� 

प�नत प� इ� प��यो��ाओ ंके संभान�त �भा� के बा�े म� नचंता �कट क�ते ह� । इस सं�भ� म� � �ा�ीय 

स�का� के काय� का माग��श�� क��े �ा�े भा�तीय संन�धा� के भाग IV के मह�� का रक�� 

क�न�ए ।  2 

28.  न��ा�यी छा�� के एक छा�ा�ास म� �हा� के क� टी� कम�चा�ी भो�� साम�ी क� उनचत �प से �ा�च 

क��े म� असफ� �ह े । छा�ा�ास म� �ह�े �ा�े कुछ छा�� क� कुछ िा� संबंधी गंभी� ए��� 

(allergy) के बा�े म� उ�को �ा�का�ी �ी । प��णाम���प एक छा� �े ए��� �ा�ा कोई िा� प�ा�� 

िा न�या औ� उसे गंभी� ए��� हो गई । इस बात का रक�� क�न�ए नक � या इस �का� क� न��नत 

को एक ‘चकू (omission)’ सम�ा �ा सकता है औ� � या यह ��ुाचा� अप�ानधक कृ�य (Actus 

reus) म� रता है ? 2 
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25.  Give any two differences between a movable property and an immovable 

property.   2 

26.  Maya, a talented writer, composes a captivating short story and publishes it on her 

personal blog. Later, she discovers that a well known author Ravi, has copied 

substantial portions of her story and published it under his name in a bestselling 

book. Explain the basis of legal action that Maya can take in this situation. 2 

27.  In a remote tribal region of India, there is a unique community that follows 

ancient customs and traditions, different from mainstream practices. The local 

government plans to implement developmental projects in the region to improve 

infrastructure and living conditions. However, some members of the tribal 

community express concerns about the potential impact of these projects on their 

distinct culture and way of life. In this context, assess the significance of Part IV 

of the Indian Constitution in guiding the local government’s actions.  2 

28.  In a hostel for school children, the canteen staff failed to properly check the 

ingredients of a meal. They were aware of some of the severe food allergies of 

some hostellers. As a result a student consumes a food item containing the 

allergen and suffers a severe allergic reaction. Assess whether such a scenario 

could be considered an ‘omission’ and whether it constitutes ‘actus reus’.    2 
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   ख� ड ग 

29. (क) � कू� �ो�� ट (न��ा�य प�� यो��ा) प� काय� क� �ह ेछा�� का एक �ग� अप�े �� ततुीक�ण 

को ब�ा�े के न�ए इटं��ेट प� उ�ह� �ा� त एक नच� (image) का �योग क��े का न�ण�य �ेता 

है । यह एक सुं�� क�ा� मक इमे� है औ� उ�का मा��ा है नक यह उ�क� प��यो��ा क� 

�न�गत रकष�ण (Visual Appeal) को ब�ा �गेी । प�ंत ुकॉपी�ाइट क� सम� या के का�ण �े 

इसका उपयोग क��े के बा�े म� अन�न�त ह� । ऐसी न��नत म� कॉपी�ाइट के मान�क के �ैनतक 

अनधका�� को � प� ट क�न�ए ।  3 

 अथ�ा  

 (ि) कॉ�े� के औ� छा� नम�, �ाह�� औ� �न� सा�-सा� एक संगीत � �ब श�ु क�ते ह� । �न�, 

�ाह�� को उसके नगटा� कौश� के न�ए � �ब के म�ुाफे का 20% भगुता� क��े का �च� �ेता 

है । � �ब अप�े काय� म� सफ� �हता ह ैप�ंत ु�न�, �ाह�� को भगुता� क��ा बं� क� �तेा ह ै। 

�ाह��, �गुा� �सा� ब�ाम ब��े� प� रधा��त �ैध संन��ा (क�ा�) का �ा�ा क�ते ह�ए �न� के 

न��� मकु�मा क�ता ह ै । �ैधान�क �प से ��त��ीय क�ा� तैया� क��े म� � या कोई �ैध 

न�चा�ण है औ� इसका � या मह� � है, इसका न�� �षेण क�न�ए ।  

 

30.  न�� � रय �ा�ी ��या एक का��ूी �डाई का साम�ा क� �ही ह ैऔ� का��ूी सहायता के न�ए र��े� 

क�ती है । उसक� न��ीय (रन��क) न��नत के सभी र�� यक �� ता�ेज औ� �माण �� ततु क��े के 

बा� का��ूी सहायता के न�ए ��या के र��े� को � �ीका� �ह� नकया �ाता । इस सं�भ� म� यह बताइए 

नक � य� का��ूी सहायता से इ�का� नकया �ा सकता है या उसे �ापस न�या �ा सकता है  । 3 

31. (क) �ाइ�टे अतं�ा�� �ीय न�नध को ‘न�नधय� का �नत��ंी (न��ोधी)’ � य� मा�ा �ाता है ?   

 (ि) �ाइ�टे अतं�ा�� �ीय का��ू� के �े� म� ऐसे नक� ह� �ो �नतमा� (मॉ��) का��ू� का उ� �ेि 

क�न�ए, न�� ह� न�नभ� � �ेश� के �ाइ�ेट का��ू� को एकसमा� क��े (समुे��) के न�ए तैया� 

नकया गया है ।  1+2=3 
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   Section C 

29. (a) A group of students working on a school project decide to use an image 

they found on the Internet to enhance their presentation. The image is a 

beautiful artwork they believe will enhance the visual appeal of their 

project. However, they are unsure about using it due to copyright concerns 

Explain the moral rights of the owner of the copyright in this situation.   3 

 OR 

 (b) Rahul and Ravi, college students and friends, start a music club together. 

Ravi promises to pay Rahul �0% of the club’s profits for his guitar skills. 

The club becomes successful, but Ravi stops paying Rahul. Rahul sues 

Ravi, calming a valid contract based on Durga Prasad. vs. Baldeo. Analyse 

if there is a valid consideration and its significance on forming a legally 

enforceable contract. 

30.  Riya, a low-income individual is facing a legal battle and applies for legal aid. 

After providing all necessary documents and proof of her financial status Riya’s 

application for legal aid is denied. In this context, state why legal aid may be 

denied or withdrawn.  3 

31. (a) Why is Private International Law referred to as ‘Conflict of Laws’ ?  

 (b) State any two model laws in the sphere of Private International Law that 

have been framed to harmonize private laws of different countries.  1+2=3 
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32.  �ा� �ीय बा� अनधका� सं��ण रयोग (ए�सीपीसीर�) क� भनूमका औ� अनध�शे (mandate) औ� 

यह नकस �का� भा�त म� ब� च� के क� याण औ� सं��ण को सनु��त क��े के न�ए काय� क�ता है, 

इसका म�ू यांक� क�न�ए । 3 

33.  संय�ु त �ा� य अमे��का म� न��मा� बा� एसोनसशसं क� न�नभ� � �ेनणया� � या ह� औ� न�नध  

� या�सानयक� क� सहायता क��े म� अप�े काय��े� (� यान�), स�� यता औ� न�नश� ट संके� �ण �े�� के 

माम�े म� �ह कैसे न�नभ� �ता �िते ह� ?  3 

34. (क) काय��े�  म� �गडे के प���� य म� �ो कम�चा��य� के बीच एक ��तफहमी के का�ण  

ग�मा-ग�मी हो �ाती ह ैऔ� �ो�� के बीच त�ा� ब� �ाता ह ै । इस म�ु ेको ह� क��े औ� 

एक सका�ा� मक काय� प���ेश प�ु� �ा�नपत क��े के न�ए �बंध� सधुा�ा� मक म� य� �ता 

न�यान��त क��े का न�ण�य �ेता ह ै । सधुा�ा� मक म� य� �ता (Transformative 

mediation) क� उ� म�ु य न�शषेताओ ंको बताइए न��का उपयोग न��ा� समाधा� �न�या 

म� नकया �ाएगा । 3 

 अथ�ा  

  (ि) अप�े � �ग�य माता-नपता क� प��संपन�य� के ब�ट�ा�े के ऊप� �ो सहो�� भाइय� के बीच का�� 

समय से पा���ा��क न��ा� च�ता र �हा है । भा��ा� मक �प से न��नत का�� गंभी� हो गई 

ह ैऔ� इस माम�े को स�ु�ा�े के न�ए � ेसंघष� क� �ह ेह� । इस बात को � प� ट क�न�ए नक इस 

न��नत म� नकस �का� सम�ौता औ� म� य� �ता को उपयोग म� �ाया �ा सकता है । �ो�� 

�न�याओ ंम� तट� � तीस�े प� क� सहायता क� न�शषे भनूमका प� चचा� क�न�ए ।  

35. भा�त के म�ु य � यायाधीश क� न�यनु� नकस �का� क� �ाती ह ै ? भा�त के म�ु य � यायाधीश क� 

न�यनु� त  म� �ाग ू“���� ठता नस�ांत” को � प� ट क�न�ए । 3  

36.  “मा�हान�” � या ह ै? भा�तीय का��ू के अतंग�त मा�हान� के �ो �प� के बीच अतं� बताइए ।  3 
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32.  Assess the role and the mandate of the National Commission for Protection of 

Child Rights (NCPCR) and how it works to ensure the welfare and protection of 

children in India. 3 

33.  What are the different categories of Bar Associations present in the US and how 

do they vary in terms of their scope, membership and specific areas of focus in 

supporting legal professionals ?   3 

34. (a) In a workplace conflict scenario, two employees are engaged in a heated 

dispute over a misunderstanding that has escalated between them. The 

management decides to implement transformative mediation to address the 

issues and restore a positive work environment. Identify the key features of 

transformative mediation that will be employed in the conflict resolution 

process.  3 

 OR  

 (b)  In a family dispute, two siblings have a prolonged argument over the 

division of their late parents’ assets. The situation has become emotionally 

charged and they struggle to settle the matter. Explain how conciliation 

and mediation may be applied to this situation. Discuss the distinct roles of 

the neutral third party facilitators in both processes.   

35. How is the Chief Justice of India appointed ? Explain the ‘seniority principle’ 

applied in the appointment of the Chief Justice of India. 3 

 36. What is ‘defamation’ ? Distinguish between the two forms of defamation under 

Indian law.  3 
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     ख� ड घ 

37. (क) (i)   �नै�क च�ुौनतय� को ��ू क��े औ� �� �ी�� त�ा भमंू�� �ो�� के न�ए अनधक 

नटकाऊ (sustainable) औ� समतापणू� भन�� य न�कनसत क��े के न�ए सतत न�कास 
�� य (एस�ी�ी) अप�ा योग�ा� कैसे क�ते ह� ?    

  (ii)   ��यो नशि� स� मे�� के म�ु य उ�े� य औ� �भा� क� �प�ेिा बताइए ।   3+2=5 
 अथ�ा  

 (ि) (i) पन��क न�नमटे� कंप�ी के संचा�� से संब� न�न�यम�ा� मक अपे�ाए� औ� म�ु य 
न�शेषताए� � या ह� ?  

  (ii) पन��क न�नमटे� कंप�ी, �ाइ�टे कंप�ी से नकस �का� नभ�� है ? 

38. (क) एक �नै�क संकट म� अ� फा औ� ओमेगा �ामक �ो पडोसी �शे एक संसाध� संप� � �े� के 

ऊप� त�ा�पणू� �ा�नेशक न��ा� म� उ�� ेह� । ब�त ेह�ए त�ा� औ� सै� य ब� तै�ाती के बीच 
संय�ु त �ा� � के �नतन�नध� � �ा�ा अतं�ा�� �ीय सम�ुाय �गडे क� म� य� �ता औ� �गडा रगे 
ब��े से �ोक�े के न�ए ह� त�ेप क�ता है । न��नत सामा� य क��े के सभी �यास असफ� हो गए 
औ� ओमेगा �े न��ान�त �े� को अप�े न�यं�ण म� �े�े के न�ए उस प� र�मण क� न�या । 
अ� फा �े पडोसी �ेश� के बीच (Non-Aggression) क� संय�ु त �ा� � क� घोषणा के उ� �ंघ� 
क� �का�त क� ।    5 

   ओमेगा �ा�ा अ� फा प� इस र�मण को �ोक�े के न�ए अतं�ा���ीय का��ू क� असफ�ता के 
का�ण� का न�� �षेण क�न�ए ।    

 अथ�ा  

  (ि) बीटा��� औ� गामा��� �ेश� के बीच न��ान�त सम�ुी �े� म� मछ�ी पकड�े के न�याक�ाप� 
क� � �ीकृनत क� �ंबे समय से एक ��ा �ही ह ै। �ा�च क�न�ए नक यह ��ा नकस �का� एक 
��ागत �नतमा� ब� सकती है औ� �ो �ेश� के बीच न��ा� ह� क��े म� इसक� � या उ����  
ह� ।     

39. (क) भा�त म� न��ा�� को शी� औ� कम िच� म� ह� क��े क� �न� से � �ायी �ोक अ�ा�त� क� 
भनूमका क� �ा�च क�न�ए । 5 

 अथ�ा 

  (ि) भा�त के ���� न�नध रयोग �े स�का� �ा�ा ग�ीब� को का��ूी सहायता ��ा� क��े के न�चा� 
प� चचा� क� औ� इस संबंध म� �987 म� एक का��ू (न�नध) के न�ए माग� �श� त नकया । 
�मा�सुा� उ� गनतन�नधय� को � प� ट क�न�ए न��के का�ण न�नधक से�ा �ानधक�ण 
अनधन�यम, 1987 अनधन�यनमत (पा��त) नकया गया । �ष� �00� म� इसके संशोध� �ा�ा 
�987 के अनधन�यम म� � या प���त�� नकए गए ?   
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     Section D 
37. (a) (i)   How do the Sustainable Development Goal (SDGs) contribute to 

addressing global challenges and fostering a more sustainable and 
equitable future for both, people and the planet ?    

  (ii)   Outline the main objective and impact of the Rio Summit.   3+2=5 
 OR 

 (b) (i) What are the main features and regulatory requirements associated with 
operating a Public Limited Company ?  

  (ii) How does a Public Limited Company differ from a Private Company ? 

38. (a)  In a global crisis, two neighbouring countries Alpha and Omega are engaged 

in a tense territorial dispute over a resource-rich region. Amid rising 
tensions and military buildups, the international community represented by 
the UN intervenes to mediate the conflict and prevent further escalation. All 
attempts to restore normalcy failed and Omega raided the disputed area to 
take control over it. Alpha, pleaded the violation of UN Declaration on  
Non-aggression among neighbouring countries.  5 

  Analyse the reasons for failure of international law to avert this attack on 
Alpha by Omega.    

 OR 

 (b) Countries Betaland and Gammaland have a long standing practice of 
allowing fishing activities in a disputed maritime area. Examine how this 
practice may form a customary norm and its implication in resolving the 
dispute between the two countries.   

39. (a) Examine the role of permanent Lok Adalats in providing speedy and  
cost-effective resolution of disputes in India   5 

  OR  

  (b) The 14th Law Commission of India mooted the idea of providing legal aid to 

the poor by the State and paved the way for a legislation to this regard in 

1987. Sequentially explain the developments that led to the environment of 
Legal Services Authority Act, 1987. What changes were introduced in the 

Act of 1987 by its amendment in 2002 ?   
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40.  (क)  अपकृ� य न�नध  म� “अ�ोष �ानय��” (No fault liability) � या है ?   

  (ि)  �ी स�का� एक रय�ु�न�क नचनक� सक ह� न��का अनधकांश समय न�नभ� � �डी बनूटय� औ� 

मसा�� के अ�सुंधा� ए� ं प�ी�ण म� � यतीत होता है । �ई औ� �भा�का�ी (का�ग�) 

रय�ु�न�क ��ाए� तैया� क��ा उ�के �ी�� का �� य है । 

    अप�ी ��ी�तम प��यो��ा म� �ी स�का� क� स� का उपचा� �ा� त क��े के न�ए काय� क� �हे  

�े । इसक� संभा� यता ( Viability) क� �ा�च के न�ए गह� अ� यय� के बा� उ�ह� अप�े 

समीप के ��-�े� म� कुछ �ंग�ी ��� पनतया� �ा� त ह�ई ं । �योगशा�ा प�ी�ण क��े प� उ�ह� 

पता �गा नक �डी-बनूटय� से न�का�ा गया अक�  (extract) अ� यानधक न�षै�ा है औ� पया�� 

सा�धान�य� के नब �ा संपक�  म� र�े प� यह � यन� क� तंन�का �णा�ी प� गभंी� अस� क� 

सकता है । �ी स�का� इसके �नत काफ� सा�धा� �े औ� अक�  को स�ुन�त �ि�े त�ा अप�े 

छा�� क� पह��च से बाह� �ि�े के न�ए उ�ह��े प�ूी सा�धा�ी �िी ।  

    एक न�� �ब �ह अप�े प�ी�ण काय� म� � य� त �े, तो अ��ा�े म� उ�के ती� छा� इस �डी 

बटूी के संपक�  म� र गए औ� �ो को मन�त� क रघात (brain stroke) औ� एक को चेह�े का 

प�ाघात (facial palsy) हो गया । इ� ती�� छा�� के प���ा�� �े इस �कुसा� के न�ए �ी 

स�का� प� मकु�मा क� न�या । न�ण�त माम�ा का��ू का उ�ाह�ण �तेे ह�ए इस बात को तय 

क�न�ए नक � या �ी स�का� ती�� छा�� क� हा�त औ� उ� प� � �कुसा� के �नत  

उ���ायी ह� ।    2+3=5 
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40.  (a)  What is ‘no fault liability’ in tort law ?    

  (b)  Mr. Sarkar is an Ayurvedic medical practitioner who spends most of his 

time in research and experimentation on different herbs and spices. His 

mission is to develop new and effective medicines in Ayurveda. 

    In his latest project, Mr. Sarkar was working to find a cure for cancer. 

After extensive study, he got some wild plants from the nearby forest area 

to test its viability. On lab testing, he found that the extract from the herbs 

was highly poisonous and could cause serious impact on the nervous 

system of the person if contacted without adequate precautions.  

Mr. Sarkar was very cautious and took utmost care to keep the extract safe 

and out of reach of his students.   

    One day, when he was busy with his experiments, three of his students 

accidentally came into contact with the herb and two suffered from brain 

stroke and one got facial palsy. The family of the three  students sued  Mr. 

Sarkar for damages. Citing the decided case law, decide if Mr. Sarkar is 

liable for the condition of the three students and the damage caused.  2+3=5 

 


